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QUESTION 1

An architect is responsible for reviewing the requirements for an existing Cloud Management solution design. 

Which requirement would be considered as a functional requirement? 

A. The solution must meet a monthly uptime SLA of 99.5%. 

B. The solution must meet a Recovery Point Objective (RPO) of 1 day. 

C. The solution must support the management of workloads within a public cloud. 

D. The solution must meet a Recovery Time Objective (RTO) of 4 hours. 

Correct Answer: C 

 

QUESTION 2

An architect has designed a vRealize Log Insight (vRLI) cluster for an organization. Details of the cluster are provided
below: 

3-node vRealize Log Insight cluster to collect logs for an organization NFS storage is enabled for archival data Once the
NFS storage is full, which will be the resulting scenario? 

A. vRLI will stop ingesting new data and unless free space is available, loss of data will occur. 

B. vRLI will automatically delete the oldest archived logs, resulting in archived data loss. 

C. vRLI will further compress the active logs to make more space available in NFS storage. 

D. vRLI will send a notification and automatically disable log archiving. 

Correct Answer: A 

 

QUESTION 3

A customer has asked to have a vSphere cluster and Cloud Zone dedicated for Cloud Template development. The
customer is going use the Cloud.vSphere.Machine compute resource type and they have been unable to quantify
values for Favor Mappings during a requirements gathering exercise. 

Which Flavor Mapping decision should be made for the Cloud Zone? 

A. Create multiple Flavor Mappings with incremental sizes 

B. Flavor Mappings are not needed for the vSphere Cloud Zone 

C. Create a single Flavor Mapping with a modest size 

D. Create a single Flavor Mapping with the maximum size supported by vSphere 

Correct Answer: A 
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QUESTION 4

The operations team is onboarding new interns in Active Directory. The interns need to work in the company\\'s
vRealize Operations environment while maintaining corporate security compliance. The intern Active Directory group
should only have PowerUser role to a specific vCenter cluster and ReadOnly for all other objects. 

Which option would meet the requirements? 

A. Create new Active Directory accounts and import the intern user accounts. Create a new role for the interns and
assign appropriate permissions on objects. 

B. Add the interns to a new vRealize Operations Active Directory Group. Import the Active Directory group and grant
access to relevant objects and all actions for the specific vCenter cluster. 

C. Add the interns to the existing vRealize Operations administrators Active Directory group and grant access to
relevant objects and all actions for the specific vCenter cluster. 

D. Create a new Active Directory group for interns. Synchronize intern Group, create a new role for the interns and
assign appropriate permissions on objects. 

Correct Answer: A 

 

QUESTION 5

An architect designed a vRealize Log Insight (vRLI) cluster for an organization with the following details: 

The cluster has 3-nodes with 2 event forwarders sending logs to this cluster. The vRLI cluster is part of the disaster
recovery protection process. 

What should be the proper sequence of steps in the Disaster Recovery (DR) protection runbook for recovering vRLI
cluster? 

A. 1. Restore the forwarders 

2.

 Restore worker nodes in any order 

3.

 Restore the master node 

4.

 Restore any recovered agents 

B. 1. Restore the master node 

2.

 Restore worker nodes in any order 

3.
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 Restore the forwarders 

4.

 Restore any recovered agents 

C. 1. Restore the worker nodes 

2.

 Restore master node 

3.

 Restore the forwarders 

4.

 Restore any recovered agents 

D. 1. Restore the master node 

2.

 Restore worker nodes in a specific defined order 

3.

 The forwarders 

4.

 Restore any recovered agents 

Correct Answer: B 
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